11H10H (+) ALBTRAERE
HAANE | FEREE Az— k(P B=— bk (H)
LT 137 — 13 iEH JEAFET9 — 41 AR
1 9:00 L8
TO - =3I va)b— fxL TO - =23 v g)— R
LA 126 — 27T HAKE Rl 48 — 31AAFE
2 10:20 5B
TO:=aIva)r— HH TO:=Ivvar— K
il 41 — 26 KFH| JLEH 60 — 40 fEdK
3 11:40 L8
TO - 23 vvat— I TO - =2Ivyat— &M
BEH 49 — 43 KFH] AT 78 — bHliERK
4 13:00 5B
TO-aIyvajf— NAKR TO-=2Ivy¥vat— #Rl
JLETE 60 — 37 fRL EE 31 — 72 A
5 14:20 LS
TO - =23 v at— KFH] TO- =3I v af— HNEH
FLAR 104 — 40 BEH: e 62 — 84K
6 15:40 5B
TO: aIv¥aF— KFRFT TO:-aIvvatF— NAHE
11H11H (B) LTS HEPFIIRERE
RANE | FERHE Aa— 1}k (R7—U1H) B=z— bk (AL
FABK 13 — 20 KFHT EH22 — 9 KTHI
1 8:30 |B N=T =N I SN T I
TO-aIyvaf— B TO-=Iv¥at— ful
% SLETE 99 — 28 LA % BRI 35 — 27 FLfaf
2 9:20 | ue
o TO - =23 v g — REHF o TO-=23Iviat— #ER
% HEBE 100 — 57 LB % B4 46 — 6THIL
3 10:40 | % b
" TO-=a2Ivy¥atF— KFAI o TO-2Iy>vat— K
% KT 40 — 38 #EHK ES BEHE 29 — 72K
4 12:00 | %% 5
¥ TO-=a2Ivvaf— FBEE i TO« =3I v gt — KFh]
% LR 95 — 488Kl ES ST 52 — 26 8l
5 13:20 | & N
B TO-=2Ivvafb— AW e TO-aIviaf— HEK
[B+] 1{r HAR 247 R
[Z+] 1{r & 207 BRI




